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Subject: Mathematics             	Grade: 8º        		Period: I	                          Year: 2019
SUGGESTION
Each period, the teacher formulates a problematizing question or situation related to the learning goals that help the student to train him/herself and get ready to prove his/her knowledge and proficiency levels in each area. This process is scheduled for the week in March from 18th to 22nd. The student should consult the bibliographic references cited by the teacher and turn in three academic products for the period written with basic standards to give account for the skills acquired.
1. Problematizing question:

How can the students comprehend the basic operations on the set of real numbers, using algebraic expressions to solve everyday problems?

2. Learning Goals
Use the tools that enable mathematical thinking in the solution of environmental problems that provide development to the community. 
3. Academic products

· Basic operations in the Naturals.
· Numerical sets: integer, rational, irrational and real.
· Absolute value in R.
· Powers and roots.
· Data representation.

4. Bibliographic references  

· Activity guide book
· Bibliobanco Book
· Texts suggested in classes. Swokowski, algebra y trigonometry. Chapters 1 y 2. Fórmula 8. Mathematics for Cambridge education 8 grade.
· Youtube videos:
https://www.youtube.com/watch?v=bnwBXIcIi2k, https://www.youtube.com/watch?v=GipavLCnke0.





1. A lighthouse comes on every 12 seconds, another every 18 seconds and a third every minute. At 6:30 in the afternoon the three coincide. Find out the times they will coincide again in the next five minutes.

2. The bar chart illustrates the result obtained in a exam of math. The minimum passing grade is 6.
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What is the percentage of students who passed the exam? What was the highest grade on the test? Find the average.

3. The distance between two points of the real line is defined by the following absolute value:
d(a,b)=|b-a|
Find d(,-).
[bookmark: _GoBack]
4. Simplify to the less expression:

5. It is known that distance AB is to distance AD ​​as 3 is to 12 and distance CD is to distance AD ​​as 5 is to 12.
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Find the ratio between the distance CD and AB.
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3.   En  un  momento,  3  niños se comen 3 helados en 3 minu-
tos El  tiempo que demoran 100 niños comiéndose 100
helados es:



A. 3 minutos
B. 1 minuto
C. 100 minutos
D. 50 minutos



4.  Una dimensión de un cubo se aumenta en 1, otra se dis-
minuye en 1 y la tercera se deja igual. Del volumen del 
nuevo sólido generado puede decirse que:



A. No puede determinarse con la información suminis-
trada



B. Es igual al volumen del cubo
C. Es menor que el volumen del cubo
D. Es mayor que el volumen del cubo



5.   El  precio  de  un  artículo fue rebajado 20%. El porcenta-
je en que debe ser incrementado el precio para que vuel-
va a ser el original es:



A. 30
B. 25
C. 15
D. 20



6.   En una fiesta la razón entre hombres y mujeres es de 4 a 3 
y hay 56 personas. El total de mujeres es:



A. 24
B. 32
C. 30
D. 36



PREGUNTAS 7 Y 8 A PARTIR DE LA SIGUIENTE 
INFORMACIÓN



7.   Se sabe que la distancia AB es a la distancia AD como 3 
es a 12 y la distancia CD es a la distancia AD como 5 es a 
12



La razón entre la distancia CD y AB es:



A. 5/3
B. 3/5
C. 7/12
D. 9/12



8.   La relación entre BC y AD es:



A. 7/2
B. 1/4
C. 5/12
D. 1/3



9.   Por  cada  9  jugos vendidos me gano $8.100, hasta hoy 
me he ganado $243.000, cuántos jugos vendí:



A. 200
B. 300
C. 250
D. 270



10. Camilo y Carlos trabajan en una fábrica de tornillos. Cami-
lo empaca  3 cajas de tornillos en un minuto, mientras 
que Carlos empaca 4 cajas en un minuto. Se deben 
empacar 1.200 cajas de tornillos. Si Carlos le ayuda a 
Camilo durante hora y media, el tiempo que demoran en 
empacar las 1.200 cajas de tornillos es: 



A. 4 horas
B. 4 horas y media
C. 3 horas y 40 minutos
D. 4 horas y 40 minutos



11. En las siguientes preguntas indica si las variables son 
directamente proporcionales y justifica tu respuesta



A. La medida del lado de un cuadrado y su perímetro 
B. El número de trabajadores y los días que se demo-



ran en hacer un trabajo, si todos trabajan de igual 
manera



12. En las siguientes preguntas indica si las variables son 
directamente proporcionales y justifica tu respuesta



A. El número de albañiles y el tiempo empleado en 
hacer el mismo edificio.



B. La velocidad de un auto y el trayecto recorrido en el 
mismo tiempo.



C. La velocidad de un auto y el tiempo empleado en 
recorrer el mismo trayecto.



13. Dos pescadores tienen 5 y 4 truchas respectivamente. Se 
encuentran con un cazador cansado y de hambre, con 
quien comparten las truchas en partes iguales. El caza-
dor al despedirse, como agradecimiento, les obsequia $ 
42, a cada pescador le corresponde: 



A. 26 y 16  
B. 28 y 14  
C. 21 y 21  
D. 70/3 y 56/3
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R A Z O N A M I E N T O   L Ó G I C O  

3 .       E n  un  momento,  3  niños se comen 3 helados en 3   m i n u - t os El  tiempo que demoran 100 niños comiéndose   1 0 0 h elados es: A .  3 minutos B .  1 minuto C .  100 minutos D .  50 minutos 4 .     U na dimensión de un cubo se aumenta en 1, otra   s e   d i s - minuye en 1 y la tercera se deja igual. Del volume n   d e l   n uevo sólido generado puede decirse que: A .  No puede determinarse con la información sum i n i s - trada B .  Es igual al volumen del cubo C .  Es menor que el volumen del cubo D .  Es mayor que el volumen del cubo 5 .       E l  precio  de  un  artículo fue rebajado 20%. El porc e n t a - j e en que debe ser incrementado el precio para que   v u e l - v a a ser el original es: A .  30 B .  25 C .  15 D .  20 6 .       E n una fie sta la razón entre hombres y mujeres es de   4   a   3   y  hay 56 personas. El total de mujeres es: A. 24 B. 32 C. 30 D. 36 PREGUNTAS 7 Y 8 A PARTIR DE LA SIGUIENTE   INFORMACIÓN 7 .       Se sabe que la distancia AB es a la distancia AD co m o   3   e s a 12 y la distancia CD es a la distancia AD como 5   e s   a   1 2

L a   r azón entre la distancia CD y AB es:

A. 5/3

B. 3/5

C. 7/12

D. 9/12

8 .       L a   r e l a c i ó n   e n t r e   B C   y   A D   e s : A .   7 / 2 B .   1 / 4 C .   5 / 1 2 D .   1 / 3 9 .       P o r     c a d a     9     j u g o s   v e n d i d o s   m e   g a n o   $ 8 . 1 0 0 ,   h a s t a   h o y   m e   h e   g a n a d o   $ 2 4 3 . 0 0 0 ,   c u á n t o s   j u g o s   v e n d í : A .   2 0 0 B .   3 0 0 C .   2 5 0 D .   2 7 0 1 0 .   C a m i l o   y   C a r l o s   t r a b a j a n   e n   u n a   f á b r i c a   d e   t o r n i l l o s .   C a m i - l o   e m p a c a     3   c a j a s   d e   t o r n i l l o s   e n   u n   m i n u t o ,   m i e n t r a s   q u e   C a r l o s   e m p a c a   4   c a j a s   e n   u n   m i n u t o .   S e   d e b e n   e m p a c a r   1 . 2 0 0   c a j a s   d e   t o r n i l l o s .   S i   C a r l o s   l e   a y u d a   a   C a m i l o   d u r a n t e   h o r a   y   m e d i a ,   e l   t i e m p o   q u e   d e m o r a n   e n   e m p a c a r   l a s   1 . 2 0 0   c a j a s   d e   t o r n i l l o s   e s :   A .   4   h o r a s B .   4   h o r a s   y   m e d i a C .   3   h o r a s   y   4 0   m i n u t o s D .   4   h o r a s   y   4 0   m i n u t o s 1 1 .   E n   l a s   s i g u i e n t e s   p r e g u n t a s   i n d i c a   s i   l a s   v a r i a b l e s   s o n   d i r e c t a m e n t e   p r o p o r c i o n a l e s   y   j u s t i f i c a   t u   r e s p u e s t a A .   L a   m e d i d a   d e l   l a d o   d e   u n   c u a d r a d o   y   s u   p e r í m e t r o   B .   E l   n ú m e r o   d e   t r a b a j a d o r e s   y   l o s   d í a s   q u e   s e   d e m o - r a n   e n   h a c e r   u n   t r a b a j o ,   s i   t o d o s   t r a b a j a n   d e   i g u a l   m a n e r a 1 2 .   E n   l a s   s i g u i e n t e s   p r e g u n t a s   i n d i c a   s i   l a s   v a r i a b l e s   s o n   d i r e c t a m e n t e   p r o p o r c i o n a l e s   y   j u s t i f i c a   t u   r e s p u e s t a A .   E l   n ú m e r o   d e   a l b a ñ i l e s   y   e l   t i e m p o   e m p l e a d o   e n   h a c e r   e l   m i s m o   e d i f i c i o . B .   L a   v e l o c i d a d   d e   u n   a u t o   y   e l   t r a y e c t o   r e c o r r i d o   e n   e l   m i s m o   t i e m p o . C .   L a   v e l o c i d a d   d e   u n   a u t o   y   e l   t i e m p o   e m p l e a d o   e n  

r e c o r r e r   e l   m i s m o   t r a y e c t o .

1 3 .   D o s   p e s c a d o r e s   t i e n e n   5   y   4   t r u c h a s   r e s p e c t i v a m e n t e .   S e  

e n c u e n t r a n   c o n   u n   c a z a d o r   c a n s a d o   y   d e   h a m b r e ,   c o n  

q u i e n   c o m p a r t e n   l a s   t r u c h a s   e n   p a r t e s   i g u a l e s .   E l   c a z a -

d o r   a l   d e s p e d i r s e ,   c o m o   a g r a d e c i m i e n t o ,   l e s   o b s e q u i a   $  

4 2 ,   a   c a d a   p e s c a d o r   l e   c o r r e s p o n d e :  

A .   2 6   y   1 6    

B .   2 8   y   1 4    

C .   2 1   y   2 1    

D .   7 0 / 3   y   5 6 / 3


